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1. [2] Let H be a subgroup of a group G. Recall that the index of H in G is denoted
(G : H|. Find the following:

[Z,<2>] [Zlg,<4>]
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2. Let G be a group and y € G. Recall the centralizer of of y in G is:

Z(y) = {z € Glzy = yx}
(a) [1] How is the centralizer of y different from the center of G7
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(b) [1] Find Z(2) in the group Zs, ot QRe 4“‘»«'--;3&‘? a5 ebOW
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3. [1] Explain, define, or provide an example of a conjugacy class. AQ:;\ C:\\’}'? & ‘_j Y a
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QAN = (1)
QDRI = (123

OV = (3D
ODLOIRIZ)= (13D)
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